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Quantitative Aptitude for RRB Group-D (Solutions)

S1. Ans.(b)
Sol.
40 CP =36 MP

10CP =9 MP
P20 19 discount = 99
MP 100

Profit = % % 100 = 10%

S2. Ans.(a)
Sol.

PQ=8cm
OP=5cm

OR =125 — 16

In AORP & AOPT
ZPOR = common
£PRO = £0PT = 90°
= AORP ~ AOPT

OR _ PR
oP  PT
3_ 4
s pT
PT = l;cm TEST SERIES
Bilingual
$3. Ans.(c)
Sol DFCCIL
..10\—} 52
20

JUNIOR EXECUTIVE

; 55 2o
P OPERATIONS & BD
(&) i)
30 Total Tests
1 | www.bankersadda.com www.sscadda.com | www.careerpower.in | www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/
https://www.adda247.com/product-testseries/8324/dfccil-junior-executive-operations-bd-2021-online-test-series

Total = 5200
Brightest = 80x20 = 1600
Dullest = 25%x31 =775

Remaining = 5200-(1600+775) = 2825

Average =% =514

S4. Ans.(c)
Sol.
Let the wickets = x
= total run till last match = 24.85x
ATQ,
24.85x+52 = 24(x+5)

0.85x =68

x=$=8{}

S5. Ans.(a)
Sol.

cota- coth

$6. Ans.(a)
Sol. LCM of (200,300,360,450) = 1800

$7. Ans.(c)

Sol.

Volume taken out = 10X 7.5%6
Spread over; surface area =
=125x15-10x7.5

Height =h

(125x15-75)h = 10x7.5x6
24h=6m

h=25cm
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$8. Ans.(b)
Sol.

sin?0+1+cos?0+2cosl
sinfl(1+cosf)

2

sind

S9. Ans.(b)
Sol.

x+1Z =112
-]

X+12=672
X =660

Correct answer = E:—D + 12 =122

$10. Ans.(a)
Sol.
81000 = 3* x 2% x 5°
1- 5And 1- 2is compulsory
= 5X3X3 =45

S$11. Ans.(d)
Sol.
let no. of people =n
np=13q+ (n—13)r
np—nr=13(q—r)
13(gq—r)
n=——
p—r

$12. Ans.(b)
Sol.

L
e

- — R
LZPQR = 180° — £PSR = 180° — 147°
= 33°
#PRQ = 90° (Angle on semicircle)
QPR =90° — 33°
= 57¢°
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$13. Ans.(b)

Sol.
£AOB = 180° — £APB
= 180° — 42°
= 138°

inA AOB, OA = OB (Radius)
1
£0AB = —(180° — 138°)

= 21°
A

B

S$14.Ans.(a)

Sol.

¥ +xt=(x+x NP -2
=169 —2 = 167

$15. Ans.(d)

Sol.
a® —b®*=(a—hb)a® +b*+ah)

1.50
= —— = 0.015
100

$16. Ans.(c)
Sol.
240

$17. Ans.(b)
Sol.

A B
a 5

20
A is opened for 3 hours = 15 unit

Remaining part =§ =1 %huurs
Bv B
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$18. Ans.(d)
Sol.

1
tanB+—=m
tand

tan?®f + =mu -2
tan?@

Sec®® +cosec? =2+ — 2 =1

$19. Ans.(c)

Sol.

4—1TR3 =nx i1Tr3

3 3
1331

n= = 49
27

$20. Ans.(b)
Sol.
Ixi42xt—4=24+2_14
4 2 3 a8 3
3+16-96 77

24 24

$21. Ans.(d)

Sol.

(8)'/2, (13)%/%, (16)"/5, (41)*/2°
LCMof2,4 5, 10— 20

(8]1,.-'2 = (8]11::;20

(13)** = (13)5/2¢

(16]1'|’I5 = (16:14;'20

{41]1;"10 = {41]2f2ﬂ

810 = 135 16%,41°

~ /8 is the greatest number

$22. Ans.(a)
Sol.

X =3V =6""=[
2=k4*

3 =iy

6=k=
2x3=6

kl;‘x w kl,.l’_}r — IE‘:—:l,."z

1,1
kz-l-; = |~1f=
1 1 -1

x vy oz
1 1 1
—+—-+—-=0
X ¥y z
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$23. Ans.(b)

Sol.

23240 — 43320 + 33625 — 335

=28 x5 —4V64x5+3V125x5-3%5
=2x2V5-4x4Y5+3x5V5-35
=435 —-16V5+15V5 - 315

=3V5-3%5
=0
S$24. Ans.(c)
Sol.
40+ |ovEL
= (40 +Vax9
=va0+9
=7
$25. Ans.(b)
Sol.
(x—\@(m‘f'v%)_l
V75 — /50 B
V75 —+/50
(x_@_ﬁwﬁ:
_ (V75 - V50)
x V24 = 75 — 50
75 4 50 — 24/75 X 50
x V24 = 25 J_
75+ 50 — 2 X 256
x—V24= 25
x—m=5—2\fg
x—ZV’E=5—2\E
x=5
$26. Ans.(c)
Sol.
. 4
Jﬁ+»’§+v‘ﬁ—ﬂ—»’ﬁ
=2v’§+2v§+9—@—9

=2/s+2v3+9-2v5-2v3-9

=0

$27. Ans.(a)

Sol.

av2 + bv3 =+/98 + /108 — V48 — /72
a2+bV3=7V2+6V3-43-6V2
aV2+bhV3=+2+2V3

a=1

b=2

6 | www.bankersadda.com

www.sscadda.com

www.careerpower.in

www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/

$28. Ans.(a)

Sol.
Va=3V26+V7+V63
Taking near cubes to26, 7 & 63
Va< V27 +V8+Ves
Va<3+2+4
Va<9
a<729
&a=216

$29. Ans.(d)

Sol.
) 1 1
BTN
2x3 2-v3 (2443)
+ 3 Ta-3  a-3
=22+2v3+2-V3-2-143

=2

$30. Ans.(c)
Sol.

Letx:J3D+J30+u‘3n+ .
x=v30+=x

x2=30+x
x*-x-30=0

% -6x+5x-30=0
x(x-6)+5(x-6)=0
(x+5)(x-6)=0
x=6,-5

X=6
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